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tWrite your Roll Nu. on the rop immediciely

un receipt of this question puper.;

Attempt five guestions in all. including
O No. Y which is compulsory.

Al parts of a question should be answered rogether.

t. Answer any three from the following :

{a) Draw a label diagram of .S sporophyte of

Antheceros.

(b) Name a Preridophyte with gametophyte having

vascular tissue,
{¢) Compare the thalli of Pellia and Porella.
(d) Describe siphonostele giving suitable examples.
{e) What is apospory ? (2%3=06)

P.T.O.
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2 Write short notes on any four of the following :

(a) Vegetative propagation in Bryophyvtes

(b) Ecological significance of Bryvophytes

{c) Heterospory in Pteridophytes

(d) Psilotum is a living fossil

(e) Polvembrvonyv in Pinus

() Ephedra is considered advanced over Cyeas

(2x4=8)

3.  Define any eight of the following :

(a) Sporophyte

(b) Synangia

{c) Apophysis

(d) Nucellus

{e) Reticulate venation

{f) Stele

(g) Eusporangiate development

{h) Subcubous arrangement of leaf
(1) Retort cells

(j} Prothallus {8x1=8)
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Distinguish between any four of the following :
(a) Monoxylic and Pyvcnoxylic wood

(b) Node and internode of Equisetum

(¢} Male and female receptacle of Marchantia
(d) Chloronema and caulonema

(e) Exosporic and endosporic development

() Ovule of Cveas and Gnerum (2x4=8)

Draw a neat and well labeled diagram of any two:
(a) T.S. leaflet of Cyeas

(b) L.S. Cone of Equisetum

() L.S. sporophyvte of Pelliu

(d)y V.S. Swvnangia of Psilotum (4x2=8)

(a) Compare spore dispersal mechanism of Riccia

Marchantia., Anthoceros and Pellia.

(b) With the help of suitable diagrams of archegonia
comment on the evolutionary trends of Riccia,
FPellia, Funaria. Preris and Pinus. (4+4=8)

P.T.O.
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Give an account of stellar evolution in Pteridophytes.

(8)

Enumerate the diagnostic characteristics of
Gymnosperms. How do they resemble and differ from

Pteridophytes ? (4+2+2=8)

(400)



